Honeywell

R8001M1050, M1150, M4050,
M4150 Actuator Mounting Kit for
V51E and V5197A Valves

APPLICATION

This document provides installation instructions for
mounting the R8001M1050, R8001M1150,
R8001M4050, or R8001M4150 SLATE Low Torque
Actuator to the Honeywell V51E series or V5197A series
valve.

IMPORTANT
This kit contains all parts necessary to mount
the actuator to V5197A series valves. To con-
nect to V51E series valves, a separate mount-
ing bracket is required. See Table 1 to
determine the bracket part number to order.

Table 1. Bracket to Connect to V51E Series Valves.

Kit Number Valve Size Bracket Part No.

50124386-001 (1.5in. 32003396-001

50124386-001 |2in. 32003396-001

50124386-001 |2.5in. 32003396-002

50124386-001 |3 in. 32003396-002

50124386-001 |4 in. 32003396-002

50124386-001 KIT CONTENTS

Item Number Description Qty
2 1/4-in. SAE Flat Washer 1
3 1/4-in. 20 Flanged Button Head Hex |1
Socket Screw, Zinc Plated
4 1/4-in. Split Lock Washers, Zinc 6
Plated
5 1/4-in. 20 Hex Nut, Zinc Plated 1
6 .5-.375 in. Valve Coupling Assembly |1
10 Drop Mount Bracket 1
1 M6 Flat Washers, Zinc Plated 4
12 M6x10 Hex Head Cap Screws 4
32-00032—01 |Instruction Sheet (V51) 1

INSTALLATION INSTRUCTIONS
INSTALLATION

A WARNING

Fire or Explosion Hazard.

Can cause serious injury or death.

Turn off gas supply upstream from the gas valve
to prevent fire, explosion or asphyxiation hazard.

Follow these steps to use the mounting kit to directly
connect the SLATE Low Torque Actuator to the
Honeywell V51E series valve (see Fig. 1) or to the
V5197A series valve (see Fig. 2).
1. Turn off the fuel supply upstream from the applica-
ble V51E or V5197A valve.
2. Remove all external hardware from the V51E
valve. Remove existing actuator from the V5197A
valve.

IMPORTANT
For 3/8-in. valve shafts align the adapter insert
so that the insert allows the set screws to con-
tact the shaft.

3. Attach drop mount bracket (Item 10) to SLATE Low
Torque Actuator with the four Item 12 screws and
four Item 11 flat washers. Do not tighten com-
pletely at this time.

4. Attach V51E adapter bracket to V51E valve per the
instructions in document 69-1335, included with
mounting kits 32003396-001 and 32003396-002.
Allow the bracket to slide at this time. (This step is
not required for V5197A series valves.)

5. Insert SLATE Low Torque Actuator shaft into cou-
pling.

6. Insert valve shaft into other end of coupling.

7. Tighten coupling set screws onto both shafts. All
set screws should contact a shaft.

8. If mounting to a V51E series valve, insert ltem 3
screw into drop mount bracket and thread into
V51E valve adapter bracket. If replacing an actua-
tor on a V5197A series valve, ltem 3 screw is
inserted instead of threaded.

9. If mounting to a V51E series valve, thread ltem 5
hex nut on Item 3 screw and tighten against V51E
valve adapter bracket. If replacing an actuator on a
V5197A series valve, place Item 2 flat washer,
Item 4 lock washer, and Iltem 5 hex nut on Item 3
screw and tighten.

10. Tighten screws on V51E adapter bracket. (This
step not required for V5197A series valves.)

11. Tighten ltem 12 screws on drop mount bracket.

12. Follow instruction in form 32M-06009—01 to wire
the SLATE Low Torque Actuator.

32-00032-01



R8001M1050, M1150, M4050, M4150 ACTUATOR MOUNTING KIT FOR V51E AND V5197A VALVES

13. Restore fuel and power to system.

Low TORQUE\J
ACTUATOR NOT IN KIT

1/4-20 x 3/4" FBHCS

M6 FLAT WASHER
OR 1/4” SPLIT LOCK
WASHER

DROP MOUNT BRACKET

V51E VALVE MOUNT M6 X 10MM HEX

BRACKET NOTINKIT € HEAD CAP SCREWS
PART OF 32003396-001
AND 32003396-002 KITS COUPLING
'~ USE ADAPTER FOR
1/4-20 SCREW NOT 3/8" SHAFTS
IN KIT PART OF .
32003396-001 AND
32003396-002 KITS
HONEYWELL V51E
~ SERIES VALVE NOT
~ INKIT

M35513

Fig. 1. Connecting the SLATE Low Torque Actuator to the V51E series valve.

~ M6 FLAT WASHER
OR 1/4" SPLIT LOCK
WASHER

LOW TORQUE
ACTUATOR NOT IN KIT

1/4-20 x 3/4" FBHCS M6 X 10MM HEX HEAD

CAP SCREWS

DROP MOUNT-

BRACKET COUPLING

USE ADAPTER FOR 3/8”
SHAFTS

HONEYWELL V5197
SERIES VALVE NOT IN KIT
1/4” FLAT WASHER

1/4” SPLIT LOCK
WASHER

<20 Hex < §K\\t~§/j /\ J'J\BJJ

==
==
W=~

M35514

Fig. 2. Connecting the SLATE Low Torque Actuator to the V5197A series valve.

Automation and Control Solutions

Honeywell International Inc. Honeywe“

1985 Douglas Drive North )
® U.S. Registered Trademark

Golden Valley, MN 55422 © 2015 Honeywell International Inc.
32-00032—01 M.S. 06-15

customer.honeywell.com Printed in United States



	APPLICATION
	50124386-001 Kit Contents
	INSTALLATION


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.3
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness false
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages false
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages false
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages false
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 300
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages false
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<
    /ENU ([Based on 'TechLit-INDD'] An attempt at replicating the Tech Lit standards in InDesign.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides true
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /BleedOffset [
        0
        0
        0
        0
      ]
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /ClipComplexRegions true
        /ConvertStrokesToOutlines false
        /ConvertTextToOutlines false
        /GradientResolution 300
        /LineArtTextResolution 1200
        /PresetName ([High Resolution])
        /PresetSelector /HighResolution
        /RasterVectorBalance 1
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MarksOffset 6
      /MarksWeight 0.250000
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PageMarksFile /RomanDefault
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
    <<
      /AllowImageBreaks true
      /AllowTableBreaks true
      /ExpandPage false
      /HonorBaseURL true
      /HonorRolloverEffect false
      /IgnoreHTMLPageBreaks false
      /IncludeHeaderFooter false
      /MarginOffset [
        0
        0
        0
        0
      ]
      /MetadataAuthor ()
      /MetadataKeywords ()
      /MetadataSubject ()
      /MetadataTitle ()
      /MetricPageSize [
        0
        0
      ]
      /MetricUnit /inch
      /MobileCompatible 0
      /Namespace [
        (Adobe)
        (GoLive)
        (8.0)
      ]
      /OpenZoomToHTMLFontSize false
      /PageOrientation /Portrait
      /RemoveBackground false
      /ShrinkContent true
      /TreatColorsAs /MainMonitorColors
      /UseEmbeddedProfiles false
      /UseHTMLTitleAsMetadata true
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


